B

B B & B &

E = A =+ — 8 ik F E

BEBT Bt 5 ZEEARE —ZETHF
REKEEBZHERE
RR B4 A % F 387 271
BRTHEBERHE
A& A 7 40 23
B WA 5.6 (39) (8)
e 6 128 122
RELEELARERX 8 2 —
FE A L ith FH 8 6 5 5
BmERE 6 21 7
IEAE B S 88 6 47 30
FE U BR SRR (B 6 8 15
IR FIE 3% JR B A i 88 6 15 8
BREMELFEERS 6 (39) —
S 6 11 1
HEVE BEERREER 2 (R HEFE 6 (1) 1
Y% BMERZEREER 6 — 1
BEMERESA 6 — (66)
FEMRBRZUERFE 6 46 8
BAFEEVRREEZEREECUBEELATERE (KR HE 6 (13) 2
HETHENBEE RS 6 (318) —
AHENBEERERE 6 — 2
HERZIBUKEERSE 6 1 —
RBTRREERERBLIERRER RS 6 (30) —
HERBELHERE A AER KRS 6 — (109)
HEMB AR WS FE 6 — (42)
PTEMBEIAQAFEEERE 6 21 —
292 271
FE®RD (g m) 15 (87)
FE Uk BR TR R AR A0 (5) (59)
FEARE - - BeREMEWRKERLD (3L 0) 10 (19)
EAERRERE  HthtEMRERETERE CRD) /Em (71) 94
RELEEK2ES 241 200
S & D= 31 8
ENRE (34) (18)
ENEBANEH (23) (16)
REREEBZ2RERANFE 215 174




BN CCT' S

BEBTT Bt 5 —ETREF —EERE
REKEEBK2BESRAFE 215 174
REREZH2RERE
BAME BERRZHE (126) (197)
HEYE  BERZEMEBRE 7 4
BAREME (147) -
HEREMEMBSRE — 3
FEAS L b FH & X g N (10) —
|IELEEEM (53) (55)
e B fff B 2 & 38 4 —
HEBE AT ER — 96
WELHERRES — (144)
HESZRNPEEEMBRE 15 —
BARAFLEEIERREEZREECHBEE (156) (16)
HETHEMBEEMSRE 557 —
CHEEEHER M R (17) 46
BREZBH2BESRA (R F 74 (263)
REBMEZTBHZ2RERE
BITRMABRIE — 31
HIZWITER 236 117
HEEAWEERFE (40) (2)
HERITER (110) (72)
MEREMFHEESZERT D (7) (7)
2IRKRE (31) (220)
METH2RESARA (RE) B8 48 (153)
BeRBSESEEREM (D) BE 337 (242)
RENESRBESESEER 528 832
NERMEB ST ERFEIFE 2 FE — (62)
RERCZEESRBESEEER 865 528
ReRBRSSEEBEBRIN
ReERBITETF 26 419 411
BAZR=EARIBZIFEATHER 26 446 117
865 528

.5 ________________________________________________________________________________________________________________________





